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ASSISTANT ACCOUNTS OFFICER (CIVIL) EXAMINATION, 2017

DECEMBER, 2017

COMMERCIAL AND MANAGEMENT ACCOUNTS

Time Allowed : 2 Hours Maximum Marks : 65

Notes:~

This question paper consists of 4 pages and 7 questions.

Question Nos. 1 and 2 are COMPULSORY. Attempt any 3 of the rest,

Show working notes clearly.

Candidates should write the Booklet Code No.of this question paper on their answersheet in the
space provided, *

In the table provided on the front cover page of the answer book, indicate the page number of the
answer book where answer to each question or part thereof is written.

8. Do not use different pensfink for answering questions. Doing so may render the answer
script invalid. :

Strike off all blank pages/space in the answer books. -

o~

&

7.
8. In case of variation between English & Hindi versions, English version will be treated as correct.
1. (a) What do you understand by Management Accounting? State any 3 differences between Financial
and Cost Accounting. [2+3=5 marks]
{b) The following balances are extracted from the books of accounts of Kardam on
31st March, 2017, -[15 marks]
Particulars Amount (in )
Purchases 40,000
Sales ' -~ 70,185
Purchases return ' 1,410
Stock (1.4.186) 5,730
Capital 50,500
Drawing 8,800
Bad debts 700
Bad debt reserve (1.4.16) 1,620
Carriage inwards 1,155
Office expenses 670
Postage and Stationary 330
Bills receivable 620
Discount (Cr.) 115
Wages 3,140
Sales return _ 2,120
Rent received . 1,050
Building 18,000
Cash in hand 1,105
Cash at bank 6,200
Salary 4,500
Office furniture 1,800
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Postage 410
Commission paid 435
Sundry creditors 9490
Sundry debtors 31,035
Sundry expenses 8,470
Building (new) ‘ 3,500
Rates and insurance 650

Prepare trading and profit and loss account for the year ended 31st March, 2017 and prepare
balance sheet on that date.
Following adjustments need to be considered:

1} Insurance unexpired I120/-.
2) Provide interest on capital @5%.
3) Rent not received ¥100/-. -
4) Depreciate old building @2.5%, new building @2%, and office furniture @5%.
5) Write off further bad debts ¥285/-.
8) Increase the provision for bad debts @6% on debtors.
7) Salary outstanding ¥285/-.
8) Stock on 31.3.2017 valued @ 37,145/~
- 2. {a) Explain the following : [1Vex4=6 marks]
iy Policy cost ' '
iy Discretionary cost
i)y Step cost
iv) Engineered cost
(b) State any four differences between Bin Card and Stores Ledger [4 marks]
e ""“*‘ﬁ(g) A company manufactures a product currently utilizing 80% capacity with a turnover of 32,000

units at a selling price of T25/- per unit. The variable cost of the product is T17.5 per unit. Fixed
cost amount to X1,50,000/- up to 80% of level of output and there will be an additional cost of
a supervisor amounting to ¥20,000/- beyond that level.

Calculate the Activity level (%) at break-even point. [5 marks]

3. {a) Categorise the following expenditure items as capital, revenue, deferred revenue expenditure

aag-9

and capital loss: [10xV2=5 marks{

(i) Cost of overhauling and painting a second-hand truck newly purchased.

{i) Cost of making more exits in a cinema hall under order of the Government.

(i) 32 lakh spent on air conditioning the office of the General Manager.

(iv) An oid machine which stood in the books at ¥1 lakh was sold for 80 thousand.

(v) R20thousand was paid as municipal tax in connection with a building which was purchased
last year for 220 lakhs.

(vi) 80,000/ was spent on heavy advertising in connection with the introduction of a new
product,

(viiy 2,000/~ was paid out in connection with carriage on goods purchased.

(viii) A temporary room constructed for ¥80,000/- for storing raw material for the construction of
a big building.

{x) T10lakhs was spent on putting up a gallery in & theatre hall.

(x) Freight and cartage amounting to %14,000/- were paid on purchase of a new plant and a
sum of 12,000/- was spent as erection charges of that plant.
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{b) As per Receipt and payment Account for the year ended on March 31, 2018, the subscriptions

received were ¥2,50,000/-.
Additional Information given is as follows
1.

{5 marks]

Subscriptions Outstanding on 01.04.2017 Z50,000/-.

2. Subscriptions Outstanding on 31.03.2018 X35,000/-.
3. S8ubscriptions Received in Advance as on 01.04.2017 T25,000/-.

4.

Subscriptions Received in Advance as on 31.03.2018 <30,000/-,

Ascertain the amount of income from subscription for the year 2017-18.

4. {a) Name the Statements etc. [Annexures A io F] for which standard formats have been

recommended by the Committee of Ex
Autonomous Bodies in their report. |

{b} Explain the following :
(i) Money Measurement Concept.
(i) Matching Concept.

perts on Uniform Format of Accounts for Central
{6 marks]

. [2x2=4 marks]

From the following information, calculate Cash Flow from Operating Activities using Direct method:

[10 marks]

Statement of Profit and Loss for the year ended on March 31, 2018

Particulars

Ameount in ()

Revenue from Operations

Other Income

Total Revenue

Expenses:

(i) Cost of materials

(i) Employees benefits

(i) Depreciation

(iv) Other expenses - insurance premium
Total expenses

Profit before tax

Less Income tax

Profit after tax
Additional information:

2.20.000
2 20.000

1,20,000
30,000
20,000

8,000

1,78,000

42,000
10,000
32,000

Particulars April 01, 2017 (@) March 31, 2018 te]
Trade Receivables 33,000 36,000
Trade payables 17,000 15,000
Inventory 22,000 27,000
Outstanding Employee benefits 2,000 3,000
Prepaid Insurance 5000 5,500
Income tax outstanding 3,000 2,000

6. {(a) Pass Journal entries for rectification of following errors in the books of Mr, Daman:

(i) Purchase of furniture of 5,000/ was
(i) Salary of ¥7,500/- paid to Accountant

{6 marks]
entered in the Purchases Book.
Raman was debited to his personal account.

(i) Cash T50,000/- paid to Ajay Shah was debited to Ajay Singh's Alc.
(iv) A contractor’s bill for extension of premises amounting to T2,75,000/- has been debited to

Building Repairs Account.
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(v) Abill of T2,000/- for old office furniture sold to Sethi was entered in the Sales Day Book. |

(vi) An amount of TB00/- received on account of interest was credited to Commission Account. ]

(b} How are the following described as per Accounting Standard 2 (AS-2) : [2x2=4 marks] |
(i} Inventories :

(i} Exclusions from the cost of inventories . ‘ f}

7. {a) Whet are the iirnitafions of Ratic Analysis? Briefly describe any four. [2x4=8 marks]

(b} Find out operating ratio from the details given below [2 marks] |
Cost of goods sold ¥4,00,000 !

Office and Administrative Expenses <30,000 3
Selling and Distribution Expenses 320,000 '{]

Sales <6,00,000 g

Sales Return 20,000 ‘
S
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!
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